Math 114 — MPS Tuesday, February 2, 2016
Quiz 7

Name:

Solutions given without showing work will earn a zero. This quiz is closed-
book. Circle your answers.

4.8 x 1012

Probl 1. [3 points| Dividle ——
roblem 1. [3 points| Divide 8 x 102

. Write your answer in scientific notation.

19 ,
o.L*lo =¥ 10"

Problem 2. [2 points| Find the domain on f(z) =1 — 2z
- 2% 203

Problem 3. [2 points] Evaluate the following radicals or state if they do not exist.

(a) vV—125 - 5
(b) V=16 o

Problem 4. [3 points] Completely simplify the following expression. There should not
be negative exponents in your answer (though there may be negative numbers).
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